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RPEXNTA S ROOHERVE PASTOCOL SRATHO
Buﬂ/cﬂ 7"/@?\/0774

AR 2= /510 5/;1/ - /?(ﬁ?/) / (7*0 )Jb_{/
=5
w =905 S5 = 1500 (1rges)” [/-
ol = /0/7 ) Z: %—07
SF =2z S5 = M0 Q26 , L5325~
2 A= oo SOCHSNA 10DNOTA
Sl = é _
<« =5 0% g //2[/ 71%)]
=905 1005~
2 - jOOO /2[/ (/,,009)] 909.0/05" /@09 g907,

dow (g198)=R [ 1- 7;‘;’;)] / ) 7- (/77009),(

490)
£ - Zg;w(@ffm—@ =/ 33 #o5ve

770,0% /

?fouff/amﬁ/ RENTA  f=1

BUDICA 0 DNOTA

LPR7  R=3@0 v
¢ =005 8, "R )
=S - “ s
Ts;j;” S = Joro (9 %%—%"[ ) ;7
5;, — 2 HFZ5E
_
Ry & -1tz
v =005
ﬂp/ =
=5
— = »
R = | (7%) 7 73 90,42 /Q;sz 7/ D025~
g =R ( %+4/> poes— /&ﬂ/

. 17042, Qwes
BHOL2=R(15025) @;’%{L/ / s R B e =1
/



A d

&=t 0

o= 5)" =7
4, - /3(7*)(4 g

L4 doo =5 OD(1#90%) @'0/_39_ / éom /W/

L L0 oy ¢
500y = g0y /9

L ooy f047 |41

30- f09
L
04" = 5@/09/ 907 77 /%( /
4 g0~ %@ZZ&/ 9% H)/ w777
. /4,5‘;%9/ 097
v PO B
v =99759] =5 ahlador

SUGHSI  HDNOT A
R Y .
R ARG
) v )

DA = G/ %//&W%@

A P
T e
P

gzl o) Tk w=d
(74/4) hets 77T

[(77%—)}‘/ (/%)/“ Trosel oA 4 FERIO
5. - /+¢)ﬂ Sns =K g (/%‘f 5

>

(17d) % —1
o ) %#%/,(#%5)1@
An G RO 42) () ~7

N LY



S o (rd) —7
PR R=soo 5., =R (145 )F L %—)%
_ = 300 (/+L z (/fi—)oz ’/
/Nﬂv '—:2/ ’ ) (/7*0#01)2:

. =2 102 "=
55 ’ .-:JO?O//QZ/ /O-Z/

= 47 049 7?4/5?’—

+ s ) -7
4 5/ /jozoc/é/ 5‘ _ R (/7#%._) (/
7 =g039 (Hv"’)ﬂ /
P = iz/ /o Y6l =R (/*%7f (77 @Qﬂy 77
=4 13 wyer= 2. Jotte  $085 —/ /0,;26
=t / / 1o7E~1 | " Jordfjor=s)

: £_
7 10 :
P w1l et o) L1

»9 5,

\l

_ D/ 7 to
B =R (M) G
0 2176 = oo (19L)E (225 ) =1
(#7922 )% 7
s f? 72 o@‘//%:: /29./079’5 /0/;2’( 7 /&

407#-7 o fomd

,Lx_c _
%ﬁo@/ﬁé: %0/% /O/;M / //

0% — /
JoR = 13 2% AZ o2 —+/ /%( )

A
Do JoB = Ay /{jf,zy/%. Zfoi;;é f/)/oz%/ﬂgz

/g
L (e B 77)
oL H JOL-

/4
R
47

\\ “ \\ \|

ﬂ?/ =
/aoézé A lactor™ wp=S B =T




o B B 71_>“
2o 4 =97 /5;2(7%7% 7 (/+W
£l ) (1+)7 - 7 .
= 9/ - F- -
R=95G3%  h,=dsuay( /f_L/)%% /- (
/*'rf F7 Hge
J/
Y 4/0 =025 000 - P (/7?%) 7- (/;ﬁ)’”’”
ﬂ/ou;i/ 2500 =2 (1+ ,Q@f)x V/ 7+ _0,2-22)12./0 =
2’::0 (/7420;22 ¥ /L/
' L5000 =2 /0/5”0 7= /OffJ_ 0 /. %Oﬁj-i
pO1TE —/ ,
L5 X0 J— JO1T T o=/
e 77 e 7~ Jows
_/
_ o JoL5F—/ =
R = ouT E T o " 703 2
.. — i/
i dbas i pia g/ () ,
L2 Ao = R ()7 -7 = 4
= 0
Va ::0/00/5" o Q5 ‘0@(/7‘90157/:/ J—(1# QO/F o /"9200
=2 Calyusotr)

= () /%ﬁm ez
20 045 X
&0 (7+992°) ~ g@z;’ [/ (ﬁwﬂ /Qgg
b 023 ooﬁ—?{ﬁ%@j

0200(/7‘0/&47 o
AL_
(/%Jﬁﬂ—j = 7= Dzzjg(if;ow—) '
o I = k(7 /ﬁz
A e
L # 4 /f@—/-‘:

w =59 =S cféd)/m%/



